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1. Normative economics deals with
a. social norms and customs that influence economic behavior
b. norms of behavior that can be taken as facts
c. statements of fact
d. statements about the way things ought to be
e. government rules and regulations that drag down the economy

2. Anincrease in the population will lead to
a. arightward shift in every individual's demand curve
b. no shift in the market demand curve
c. arightward shift in the market demand curve
d. arightward movement along every individual's demand curve
e. arightward movement along the market demand curve

3. Ifan excise tax is imposed on shirts,
a. the number of shirts produced will exceed the number demanded
b. the number of shirts demanded will exceed the number supplied
c. the equilibrium market price will decrease
d. the amount consumers pay for each shirt will decrease
e. the net revenue producers receive from each shirt will decrease

4. Roger spends all of his money on racquetballs and food. What would happen to Roger's budget
line if his income increased by 10 percent, holding prices constant?

It would shift inward.

It would rotate about the axis for food.

It would rotate about the axis for racquetballs.

Nothing would happen to the budget line, because the relative prices for food and

racquetballs have not changed.

e. It would shift outward.
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5. The marginal product of labor is the

additional output produced when one more worker is hired
amount of output associated with labor inputs

maximum amount of output produced by a given set of inputs
maximum profit "produced" by selling a firm's output
additional cost associated with an additional unit of labor

o0 oe

6.  The demand curve facing a firm acts as a constraint by

shifting to the left and right as suppliers vary their quantities

b. showing the maximum price that could be charged to sell a specific output level

¢. showing the minimum quantity of output that a firm needs to produce at a specific price
d. limiting sales to those who are first in line when the product is distributed

e. relating the actions and decisions of buyers and sellers in the market
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Under perfect competition,

a. asingle seller sets the price

b. sellers can easily enter or exit the market

¢. asmall number of sellers offer differentiated products

d. agovernment franchise protects sellers

e. an intense rivalry between two powerful firms determines the market price
A pure monopoly

a. is the only firm that produces all of the products its competitors produce
b. is the single seller of a unique product

c. is bigger than all its competitors combined

d. has only one customer

e. is always profitable in the short run

In the short run, a monopolistic competitor can

a. not earn an economic profit because of competition

b. use limit pricing to reduce competition

¢. maximize profits by charging the highest price the market will bear
d. earn an economic profit

e. maximize profit by selecting the minimum efficient scale

One seamstress can sew 2 dresses per day and two seamstresses can sew 5 dresses per day. If

the marginal revenue product of hiring the second seamstress is $360, then in a competitive
product market

there are decreasing returns to scale

b. there are diminishing returns to labor

¢. each dress sells for $120

d. the seamstresses are earning zero economic profits in the short run
e. marginal cost of production is $120
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Everything else being equal, a job in which workers face a relatively small chance of being laid
off would generally have

a. alower wage rate

b. ahigher wage rate

c. more fringe benefits

d. higher skill requirements

e. no expected wage differentials in equilibrium

An increase in demand coupled with an increase in supply results in a(n)

a. increase in price and an ambiguous effect on equilibrium quantity

b. increase in equilibrium quantity and a decrease in equilibrium price

¢. decrease in equilibrium quantity and an ambiguous effect on equilibrium price
d. increase in economic rent

e. ambiguous effect on equilibrium price and an increase in equilibrium quantity

If an action creates more total benefits for gainers than total harm to losers,
a. that action would be a Pareto improvement.

b. taking that action would improve efficiency

c. the government should step in to take that action _

d. aside payment exists that would make the action a Pareto improvement
e. any side payment would make the action inefficient

Market failure occurs when

all Pareto improvements are undertaken ]

b. refusal to make a side payment reduces Pareto efficiency '
c. the economy operates above the production possibilities frontier
d

€
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markets are perfectly competitive
some Pareto improvements are not made
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fi{olllders of a foreign currency are willing to supply that currency to Americans in exchange for
ollars

a. only because they want to buy American goods

b. only because they want to purchase American services

¢. primarily because they want to purchase American assets

d. because they want to purchase American goods, services and assets
e. because their governments force them to do so

éf t?he Fed wants to move the economy up and to the left along the Phillips curve, what must it
01

a. increase the rate at which the aggregate supply curve shifts upward

b. decrease the rate at which the aggregate demand curve shifts rightward

c. increase the rate at which the aggregate demand curve shifts rightward

d. increase the rate at which the aggregate demand curve shifts leftward

e. decrease the rate at which the aggregate supply curve shifts upward

The AD-AS model implies that, in the long run,

a. the economy adjusts very quickly to demand shocks

b. changes in government spending have no effect on GDP
c. the price level never changes

d. amixture of fiscal and monetary policy is necessary to achieve full employment
e. the Fed controls output

An open market purchase of bonds by the Fed

a. drains reserves from the banking system and decreases the money supply
b. injects reserves into the banking system and increases money demand

c. injects reserves into the banking system and increases the money supply

d. drains reserves from the banking system and increases the money supply
e. injects reserves into the banking system and decreases the money supply

Which of the following would not be incorporated by using GDP per capita to measure the
standard of living?

a. clean environment

b. education

¢. transportation services
d. housing

e. medical care

Which of the following statements about modern macroeconomic theory is most accurate?

a. Keynes' ideas help us understand movements in output around its long-run trend, while the
Classical model is more useful in explaining the long-run trend itself.

b. The classical model helps us understand movements in output around its long-run trend,
while the short-run macro model is more useful in explaining the long-run trend itself.

¢. Both classical and short-run macro models help us understand movements in output
around its long-run trend, but neither model is effective at explaining the long-run trend
itself.

d. Neither the classical nor the short-run macro model helps us understand movements in
output around its long-run trend, but both are useful in explaining the long-run trend itself.

e. Only the short-run macro model is useful in understanding movements in output around its
long-run trend, and in explaining the long-run trend itself.
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